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wox #-13. 28l x =11

], Hidla 6 sBLs 2yen yalsl 11 214 13 8.
AR ¢ 112 + 132 = 121 + 169 = 290.

Geldam 12 : s Hdl dopliza odflal oidiadl 8 5 %l ugilous d-l dous sadl 3 H{l sl S,
de, &ss -l Wl doria ol gl Fedl ¢l vin dd 12 Ml ¢l dal uddell enal
Algouy Bisteusiz ol axsn sdi 4 {12 ay €l dopliRy ellai-dl dons i wdlous 2k,
(il 2ugla 4.3).

Gie : A 3 doriiy ol udlous x Ml 9.
2iell, d-fl dous = (x + 3) Ml 1
x (x + 3)
= (x2 + 3x) dl2

gd, AHEeusy Brsedl wdl = x 4l

el doiRy olllaid Asisn

(x+3)
el de &g = % x x x 12 = 6x H{l?
uell s3RuLd Yo, X
X +3x=6x+4 25ld 4.3
s xX2=3x-4=0

(el Yatetl GuloL s3di,

y= 3225 355 _ 4 el 1

2 2

uig x #— 1. (7
w14l, x = 4.

214, o{latl uglous = 4 H{l A dousS 7 Ml ual.
sl : doly ol dxasa = 28 {1
Bisieusiz oflaid daasn = 24 {2 = (28 — 4)
Gersamt 13 ¢ [Gaid Yourdl Guaial 530, asd €l dl {ladl [gaid wdls@dl oly dadl :
() 3x=5x+2=0 () x> +4x+5=0 (i) 222 -2 2x+1=0
B3y :
@) 3x2-5x+2=0
wél,a =3,b=-5,c=2
well, B2 —4ac=25-24=1>0.

x == — telld, x = 1 »adl x

w

w1, ofly % w4 1 9.
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@ x*+4x+5=0.
weél, a =1,b=4,c=5
w8l, B2 —4ac=16-20=—-4<0.

S5 vl ardfas Avaedl adl e AL €S ab. 2udl, 57 — dac 4 N drdlds + HA.

w19, wUd HL5wA 25 vl didlas ofle -l Mol
() 2x2-242x+1=0.
wl, @ =2, b==22,c=1
wel, p2—4ac=8-8=0.
nx= _2‘/5:“/6 = g + 0 2ald x = %
11
], ofl A 8.

Gerganl 14 ¢ (AL wlswAl ofler Wikl :

i) x+==3,x#0 @) ~-—5=3.x#0,2

Giq :
() wls:w@l x +% =3 - x a3 saudi,

x2+1=3x
wauld, x—-3x+1=0.
21 [gatd wlsa ©.
e, a=1,b=-3,c=1
wel, PP-4ac=9-4=5>0
345

X =
2

s, ofles 3 +2‘E ud 3 '2’/5 23

(g2l 3 x = 0)
s 11 .
(i) = r— =3,x#0,2
x# 0,2 glandl, w5 x(x —2) a3 i,

x=2)=x = 3Ix (x-2)
= 3x? —6x

21¢l, 208e A5 WRaldd 4 3x2 — 6x + 2 = 0 o=, 2t [Bed wlse 8.
24, a=3,b=—6,c=2 2l, B>’ —4ac=36-24=12>0
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LX= 6 3

_ﬁiﬁ_eizﬁ 34,5
— =

w11¢fl, oflo 3*3‘5 A 3‘3‘/5 3.

Ay : gl 3 x # 0 wlual 2

Gelgael 15 : s Hieelledl dld wellul »su 18 Bl/saisl ©. o uatedl 0l Raumi 24 Bl
R sUAl dldl MY, Hdlsl Rl deg % »idR Sudl ddldl AHY Sl 1 sdls ay €y, dl
Ul B4u 2Lkl

Gia @ WA 3 uawedl »su x Ball/seaws B,
2], Hasl Al oy wdl Hieelledl »su = (18 — x) Bl/seus 24
yale-l [Raumi odi Hizrolledl 35w = (18 +x) B3l/se1s sal.

. AR 24
uate~ll Al ougy el Aldl MY = —— = g sdls
U *

& . - 24
L% UHIGL Uale~il [BoUHL odl dldldl dHY = 18+ JGl5

ua-l Hiledl vaql,

24 (18 + x) — 24 (18 — x)
oo x2+48x — 324
(Bald Yot-l GulaL S,

’ 2 R600
x = —48 +4/48° +1296 _ —48i2 3600 _ —48+60

2 2

(18 —x) (18 + x)
0

= 6 »iYdl —54

uid, x 2 uawe-ll s dlaell el €S uF AR, 2y, ol x = —54 A wavRIdl, x = 6 1.
214], uasl #su 6 Bafl/sans &,

A 4.3
1 3 2ula Raid wlsedl ofles, 154 €1 dl yeladldl axl Aadl
()22 =Tx+3=0 (i) 22 +x—-4=0
(iii) 4x> + 4B3x +3=0 (V)22 +x+4=0
2. ua 1Ml g (Zaid alsani ofle (B Yol Gualal 530 dadl,
3. A0 wdlsaqi ol kL

1 1 11
x+4 = x=7 3
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4.

10.

11.

4.5 ol @3y

AL [eiol dH Ay & [Bad HMlswWL ax? + bx + ¢ = 0 il olly

Wil Ul Al ad yddidl Gyl (qudl) @d A ¢ddl 5 ad ugldl GHadAl el

AN —;— 8. drll vl G4 ML

-

s ol 040 Azl AR A Al 2RIl A 30 V. A dd ARAHL 2 vl ay
2l AU 3 YR UL UL Eldt, dl d¥eil SR 210 Ul €ld. A8l 2L ol [Qunuui Hade
d8l 2l

s dordRA videl [@seld Ay del Al ouge el 60 Hlez ay 8. A H{idl ouy, sl ouy
sl 30 H{l2r ay €ly dl, videdl sugiii Ay kL

& Avladldl dolidl dstad 180 €. «itll 2Avaredl asl 32l Avul 53l 8 vl B. 6id AvAil
kL.

w5 2 s B8 360 (Bl vidx s1U B, A a-dl asu 5 Ball/saus ay €l dl, 2ied o »id
sl d 1 sels 210l uHY Al 8. dl gl %4y Ml

yelldl 6l 49 s A 9% salsMl ws 208l o3l A3 9. Hizl AL AN 2i5l eRdl HIZ ALl

AL AN Sdl 10 Selsdl 201 A1 A 9. ol A0 glal 2i8]l Gl AAA-HAL AHY,
a4l

25 Bl 2 WY 2 6dAR a2 132 Bl iR stual Y1l 24 sdl 1 sas sl uHy &
0. (a2l Rl Y2 Glow Wdi-dl AHY Bl AL dl) % Bedl 2l w2 ey, HlHl 2l
AN AU Sl 11 Bal/sens ay €l dl oid oudll u22u2 3w 20Hl.

6L ARAAL AASUUAL UL 468 12 9. % dx-l WRFEQAL dsiad 24 Hl 1A dl, iqd ARA-L
oyl ot skl

P T

-

—bi#ﬁ—4m

x= % 9.

A N oA - 2— = 2— "
R, b2—4dac >0 dl, uue o B ofle 2—:+_\J”‘“‘C ) =2 _ Wb dac 4,

2a 2a 2a
s, A _ -b
#, b*—4ac=0 dl, x=— £0,
2a
c _ =b _ =b
Aelld, x = —— ¥l x = >

wH, AHLSW ax? + bx + ¢ = 0 AL oin oy ;—i’ QY.

wiel, sl sl aglaA & 21 [Aseuni [Gand M58 ax? + bx + ¢ = 0 Al oid ardlas ofly

AL 6.
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% b2 —4dac < 0 dl Adl 51 ARdAlrs Aval AL 1A, F+l ol b2 — dac . 0], 20 [Aseuni
w0 [ald wHls@AL 515 Aidl@s ofly L Hal.

B — 4ac Beid w150 ax? + bx + ¢ = 0 i ollr airdl@as € 3 AR d A%l sdl Sludl,
b — 4ac < [Baid wdlseqdl [Qdas sdan 8.

suell [geud s ax? + bx +c = 0 W
(i) A b*—4dac > 0 dl, & [z ardlas ol wa.
(ii) M b2—4ac = 0 dl, & AHA Aidlas ofly wal.
(iii) W 52— 4dac < 0 dl, 1S Awrds ol 1 1A,
Qlal, 28 32dis Gelewll A1,
Gewg2el 16 : [Bad w152 26 —4x + 3 = 0 «ll [Adas bl 2 del udl ol a3y A58l 52U,
B3 : wla Rawd u{ls@ a=2,b=—4, c =3 W2 ax® + bx + ¢ = 0 W51 B, 04, Qs
b —4ac= (-4 - (4x2x3)=16-24=-8<0
w14, 20U [Bald uMls0A SIS ardl@as ofly asy -l
Gerg2el 17 : 13 lex enuaon s aguusiz oiflauddl Al ue-i s BigA s wimdl Adl dd
adudd 8 ¥ el i oflairdl s Al oA ABigpil A 2w B w10 oidd s12sel almdl-l
ARl dlad 7 H{le €l g 2L asu B 7oA gL, dl o slesdl ked 2 wleidl qouadl wsu ?
Gia @ adl nad gl oirudlBl, (70 gkt 4.4.)

Q3 3 P aiedld o33 - 9, W 3 aimal sis B o
»d x Hl, @ald BP = x Hl. ¢d, uioiaiel ol si2s-l vida-dl
dsldd = AP — BP (adl BP — AP) = 7 4l

2el, AP = (x + 7) ¥l

gd, AB ey glaidl, AB = 13 ¥l P
ZAPB = 90° (37)
$d, AP + PB? = AB? (waolRueAL MR yel) gld 4.4

S FEFTDPE =132

oo x2+ 14x + 49 + x2 = 169

232+ 14x-120=0

e, uiotdl s125 B ol 2idz %’ ¥ wdlse x2 + 7x — 60 = 0 f WA 2 D,

el A (Baid wlsmidi ofly ardlds sid di, aiveld e 4551 52 wsd oA AL sy B
5 3, d ol Aldl [Qdas AL @k s3I

[Gdus b2 —4ac=7>—4 x 1 x (-60) = 289 > 0

28], 2iue [gald sl o ofly cidlas ofly 9 24 el sl Al v wisdl
dduddld Asd 8.
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(Gad u{ls@t x2 + 7x — 60 = 0 A [aid Yool Giadi,

_ -74289 _ =717
2 2

MU, x = 5 Ul —12 ¥4,

Uid, x 4idl v 5125 B a2 vid2 dlawl, d 4 o €ld ASul wuel, x =12 A oy
ASu. 20l x =5

el Al u2 aicidl 2 Ad douadl wsa 5 FHl dd sles B el 2dz 5l e sles A dl
2dR 12 3l €.

Gelgmn 18 : ulsw 3x2 — 2x + % =0 L [Adus il d w2l wdlseni ofled @3u 58l 3.

2 d delds €ld dl qadl.

@3:&:»{&”[,a=3,b=—2,c=%

e, @Adas b2 - dac = (2> -4 x 3 x %:4_4=0

], viue [Gaid uxlseil ol ofly dRdl@s i AHA O,

oflos ;—Z, ;—: %{Zlid,\%, % qu\%, % 8.
A 4.4
1. A 2uual [Gand aHlseinl oflo-i @3u it % did dRdl@s ol €l dl d gkl
() 2x*-3x+5=0 (i) 3x2—43x+4=0

(i) 22 —6x +3 =0
2. (Al (Zaid ARl ol A Gld dl ko Hed 2L
) 2xX*+kx+3=0 (i) kx (x=2)+6=0
3. -l dous, udious sadl oMl €l A Essn 800 H1? €l widl doiRA Aisualdl si-iadl
AsH €9 7 % MR B ‘S Hi €U dl, dril dous A uglous Aadl,
4. 6 Bl Guaddl aawll 20 al 8. 4 al uddl dusdl Gu sauladl Avai-l dpusz (aixi)
48 ¢dl. o > YRRAM w54 8 7 A €1d dl, dudl steu-l Gu: kL.
5. %l uRBilc 80 1 24 Asis 400 1> €1y, Adl ol oiollAl sididdid as4 & 7 oA d wsu
S, dl d-dl deis 244 uelous kL.
4.6 ARIA
L us@HL i (AL Yeredl vioun sl
1. a b, cARA[As AU 2 a7 0 He Uet x Hi [Zad A5 ax® + bx + ¢ = 0 U511
2. % ao® + bo+c =0 €l dl ardlas vl o [Baid wdls8L ax® + bx + ¢ = 0 o s ofly
sy, [gaud oguel ax? + by + ¢ -l 4dl 2 [Baud w50 ax? + bx + ¢ = 0 i ofly
AL Sl
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3.0 % W8 ax? + bx + ¢ a # 0 A Y ayd-l ARusR @3 euldl wdA, dl Baid
W58 ax? + bx + ¢ = 0 i oflw €35 vaud-d yeu Y @ qadl wsla.
4. ygladl gl Al Guaiol 53 uel Baid a5l Gia Aadl asw,

-b i\lbz —4ac

5. [Bad yot @ Reaud 0l ax? + by + ¢ = 0 Al oly ——F—— & H4q, i
b*—4ac >0
6. [gaud alse ax? + bx + ¢ =0 Wi
(i) %L B>— 4ac > 0 dl, 6 2 didl@s ofl Hal.
(ii) % B>— 4ac = 0 dli, 6l ¥ aRdlas ol 1.
(iii) 8 52— 4ac < 0 dl, aRdlas ofle L Ha,

A5 iy

afees geusiql Gdldl asiuel dada wlse 2 sal oled Yo Usrl Al
Y 5l AU (U5 3 Al Gers@ll 11, 13, 19 24 UsWL 4 i Geigaell 10, 11,
12 %iL.)

el

C3L7H3
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